EXERCISE: Isotopes And Average Atomic Mass

Example: A sample of Cesium is 75% 133Cs, 20% 132Cs and 5% 134Cs. What is its average atomic mass?

Answer: 
0.75 x 133
=
99.75

0.20 x 132 
= 
26.40

0.05 x 134 
= 
  6.70
Total 
=       132.85 amu → average atomic mass

Determine the average atomic mass of the following mixtures of isotopes
SHOW YOUR WORK

	1. 84% 127I,    13% 126I,    3% 128I   (I= Iodine)
____________ x ____________   =   _______________
____________ x ____________   =   _______________

____________ x ____________   =   _______________







       ____________________



	2. 4% 196Au,    95% 197Au,    1% 198Au   (Au = Gold)










_______________



	3. 15% 55Fe,    85% 56Fe   (Fe = Iron)










_______________



	4. 98% 1H,    1% 2H,    1% 3H   (H = Hydrogen)










_______________



	5. 80% 24Mg,    10% 25 Mg,    10% 26 Mg   (Mg = Magnesium)










_______________



	6. 99% 12C,    1% 14C   (C = Carbon)










_______________




Name ____________________________________________   Period ___________








